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1. The different forms of a gene are called __.

a. gametes

b. germ cells

c. alleles

d. dominant

2. The genes that an organism has are called its ______, while the appearance of an organism is called its ______.

a. phenotype, genotype

b. genotype, gamete

c. Punnett square, phenotype

d. genotype, phenotype

3. An example of a homozygous recessive genotype is ______ and an example of a heterozygous genotype is ______.

a. Aa, AA

b. AA, aa

c. aAa, AAA

d. aa, Aa

4. A heterozygous organism is one in which alleles for a particular trait are:

a. identical

b. different

c. pure-bred

d. not dominant

5. If an organism receives different genetic information from each parent:

a. it will have a genetic disorder

b. it is a hybrid

c. it is a pure-bred

d. it is homozygous
6. Straight hair in humans, white fur in rabbits, and needlelike spines in cacti all describe each organism’s:
a. alleles

b. genotype

c. chromosomes

d. phenotype

7. When an organism is homozygous for a trait, it is said to be:

a. hybrid


b. purebred


c. heterozygous


d. dominant
8.  A ______________cross involves single traits.
a. dihybrid

b. test cross 

c. monohybrid
d. trihybrid

9. The phenotype ratio of the offspring in the Punnett square below is __.

	
	B
	b

	B
	BB
	Bb

	b
	Bb
	bb


a. 4 brown eyes : 0 blue eyes

b. 2 brown eyes : 2 blues eyes

c. 0 brown eyes : 4 blue eyes 

d. 3 brown eyes : 1 blue eyes  

e. 1 brown eyes : 3 blue eyes

    B = brown eyes,   b = blue eyes
10. The genotype ratio of the offspring in the Punnett square in Question #9 is _____.

a. 4 homozygous dominant : 0 heterozygous : 0 homozygous recessive

b. 0 homozygous dominant : 2 heterozygous : 2 homozygous recessive

c. 2 homozygous dominant : 0 heterozygous : 2 homozygous recessive

d. 2 homozygous dominant : 1 heterozygous : 1 homozygous recessive

e. 1 homozygous dominant : 2 heterozygous : 1 homozygous recessive

11. When pure white and pure red flowers were crossed, all the offspring are pink.  The phenotype of the offspring illustrates the pattern of inheritance known as:
a. dominance

b. segregation

c. incomplete dominance

d. multiple alleles

12. When pure white hens mate with pure black roosters, they produce checkered(black and white) offspring.  The phenotype of the offspring illustrates the pattern of inheritance known as:
a. codominance

b. complete dominance
c. incomplete dominance

d. multiple alleles
13. Parents have blood types AB and O, what are the chances of having offspring with blood type AB?

a. 0%

b. 25%

c. 50%

d. 100%
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14.  In corn plants, green (G) is dominant to albino (g).  According to the Punnett square, what is the chance of this heterozygous cross producing albino corn plants?

a. One in four

b. Two in four

c. Three in four

d. Four in four
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15. In pea plants, tall plants are dominant to short plants.  If two heterozygous tall plants are crossed, what percent of the offspring will probably be short?

a. 75%

b. 50%

c. 25%

d. 0%
16.  In the above cross problem, what is the genotypic ratio?
a. 3TT: 1Tt
b. 2Tt: 2tt
c. 1TT: 1Tt: 2tt 
d. 1TT: 2Tt: 1tt
17. A circle in a pedigree represents _______ while squares represent _________

a. males, females

b. fathers, sons

c. mothers, daughters

d. females, males
18.  A ______________cross involves two traits.
a. dihybrid

b. test cross 

c. monohybrid
d. trihybrid

19. A circle or square in the pedigree that is completely shaded (colored in) represents an individual that is –

a. a carrier of the trait.

b. not affected by the trait.

c. affected by the trait.

d. heterozygous for the trait.

20. In a pedigree, which is numbered with Roman numerals?

a. generations

b. visible traits

c. individuals

d. alleles

21. A marriage is represented by a:


a. vertical line


b. horizontal line


c. non-shaded individuals


d. shaded individuals

22. What is an individual called that shows no symptoms for a disorder, but can pass on that trait to offspring?


a. affected individual


b. carrier individual


c. fully shaded individual


d. homozygous dominant individual

23.  Examine the pedigree above, which tracks the inheritance of a RECESSIVE trait through a family.  Which of the following statements is true?

a. The pedigree shows four generations of one family.

b. The individual listed as “4” must be homozygous recessive for the trait.

c. The third generation of parents had 7 kids.
d. All of the above.
24. How many children did the first generation of parents have?


a. 3


b. 7


c. 2


d. 1
25. A sex-linked trait is a trait that is carried on the:


a. X chromosome


b. Y chromosome


c. X and Y chromosomes


d. 21st chromosome

26. What are pedigrees used for?

a. predict how genes/traits are passed down and inherited from generation to generation

b. find the father of children

c. diagnose genetic diseases

d. find the criminals
Key: B=black fur

T=long tail
        b=white fur

t=short tail
P1= bbtt  x BBTt
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27. The above dihybrid cross was done with one dog who had white fur and a short tail and the other parent who was homozygous black fur with a heterozygous long tail. Using the punnett square above, how many of the puppies had black fur and short tails?

a. 75% black fur and short tails


b. 0% black fur and short tails


c. 100% black fur and short tails


d. 50% black fur and short tails

28. Using the dihybrid cross from number 34, how many puppies had white fur and long tails?


a. 75% white fur and long tails

b. 0% white fur and long tails

c. 100% white fur and long tails

d. 50% white fur and long tails
Multiple Choice-PRACTICE Genetics Test


Directions: For EACH of the following questions, choose the BEST answer and justify EACH answer with a BRIEF explanation.





 1     2     3     4     5    6     7
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